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14. Suppose Doris’s preferences are represented by a marginal rate of substitution of
good X for Y MRS, = ixX, that prices are Py = 3 and P, = 1, and that income is I =

180. If a ration limit M, = 20 is applied to commodity X, what is the optimal
consumption basket?

(A) X =40, and Y =60

(B) X =40,and Y =120

(C)X=20,and Y =60

(D)X =350,and Y =120

(E)X=20,and Y =120.
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15.Mary is endowed with R =24 hours of leisure per day and I = 120 units of
income dollars per day. Her marginal rate of substitution is resource supply is
MRSg = 1/R. Her wage rate is h;, = 10. How many hours of labor will she supply
per day?

(A) 12 hours, and he earns 50 dollars per day from labor,

(B) 15 hours, and he earns 60 dollars per day from labor,

(C) 18 hours, and he eamns 80 dollars per day from labor,

(D) 18 hours, and he earns 60 dollars per day from labor,

(E) 15 hours, and he earns 80 dollars per day from labor.

16. The demand function for a certain fiction novel book is given by P =20 -
0.0002Q, P and Q are the unit price and quantity respectively. The publisher’s
marginal cost is MC = 6 + 0.00168Q. The author’s royalty is 20 percent of total
revenue, and wants to maximize her royalty income. Then,

(A) The publisher’s preferred price P=15 and quantity Q=5,000,

(B) The publisher’s preferred price P=19 and quantity Q=5,000,

(C) The author’s preferred price P=15 and quantity Q=40,000,

(D) The author’s preferred price P=19 and quantity Q=50,000,

(E) The author’s preferred price P=15 and quantity Q=50,000.

17. Suppose there are 100 identical firms in an initially competitive foods market.
Market demand is given by P = 10 — Q/200 and market supply by P =1+ Q/200. If
the 100 firms formed an effective cartel, for maximum aggregate profit: (Assume that
the industry supply curve is simply the horizontal sum of the firm marginal cost
curve.) Then,
(A) the profit-maximizing price is P =7, output is Q = 600,
(B) the profit-maximizing price is P = 7, output is Q = 500,
(C) the profit-maximizing price is P = 5, output is Q = 600,
(D) at the profit-maximizing solution, each firm is assigned to produce q =6,
while it would like to produce a desired output of g = 10,
(E) at the profit-maximizing solution, each firm is assigned to produce q =8,
while it would like to produce a desired output of ¢ = 12,

18. Considering the following utility function representing a household Chen’s
preferences for commodities X, and X,: U(X,, X,) = min (5X,, 3X;). The household
is facing prices P; =$1 and P, = $3, with a given level of income, I = §180. Thus,

(A) The optimal level of X, is 50,

(B) The optimal level of X, is 25,

(C) The budget line is X; + 5X, =180,

(D) The optimal level of X, is 40,

(E) The optimal level of X, is 50.
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19. Suppose the demand functions for a pure public good X; =12 — 2P and
X, =18 — 2P for two consumers, where P is the price. Assume the price of all other
commodities equal 1, If this public good is supplied by a perfectly competitive market
with the marginal cost MC = X/2. Therefore,
(A) The equilibrium price and quantity of this public good is $4 and 10,
respectively,
(B) The equilibrium price and quantity of this public good is $4 and 12,
respectively,
(C) The equilibrium price and quantity of this public good is $5 and 12,
respectively,
(D) The total surplus (the sum of consumer surplus and producer surplus) for this
public good is $75,
(E) The total surplus (the sum of consumer surplus and producer surplus) for this
public good is $65.

20. The market demand and supply functions for the iPhone are: .
demand function Q¢ = 26 — 2P, supply function Q° = —9 + 3P.
When the government imposes a sales tax with a tax rate of t = 0.5. Associated with a
sales tax, then,
(A) Consumer surplus is $9, and producer surplus is $24,
(B) Consumer surplus is $36, and producer surplus is $6,
(C) Deadweight loss is $30, and the amount of taxes collected is $30,
(D) Deadweight loss is $15, and the amount of taxes collected is $15,
(E) Deadweight loss is $10, and the amount of taxes collected is $30.

21. In a toys market the demand function Q¢ and monopoly’s short-run marginal cost
function SMC are:
Q¢ = 26 — 2P, SMC =3+ Q%/3.

When it is in the perfectly price-discriminating monopoly. Then,

(A) Producer surplus is $36,

(B) Consumer surplus is $24,

(C) Total surplus of the firm is $60,

(D) Deadweight loss is $36,

(E) Deadweight loss is $60.

22. A monopolist has set her level of output to maximize profit. The firm's marginal
revenue is $20, and the price elasticity of demand is -2.0. The firm's profit
maximizing price is approximately:

(A) $40,

(B) $30,

(C) 820,

(D) $10,

(E) $0.
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23. A Firm facing the demand functions in two separated markets:
Market1 q, = —2P; + 6,Market2 q; = —2P, + 4.
The short-run total cost function for this firm is SRTC = 0.5 + (q; + qz ),
And total output by the firm, Q = q, + q. Then,
(A)The profit maximized output for this firm is Q =4,
(B)The price elasticity of demand at the optimal output q4 is -3,
(C) The price elasticity of demand at the optimal output q, is -4,
(D) The optimal P, in the market 1 is lower than P, in the market 2,
(E) The optimal P, in the market 1 is higher than P, in the market 2.

24, Suppose the following inverse input market demand and supply functions:
Input demand P = 10 ~ Q9, Input supply P = 2 4+ Q5. Then,
(A)Economic rent of this input is $6,
(B)Economic rent of this input is $10,
(C) If now the input market supply curve is P =8, then economic rent of this input

is $2,
(D)If now the input market supply curve is Q° =4, then economic rent of this
input is $24,
~ (E) If now the input market supply curve is Q5 =4, then économic rent of this
input is $16.

25. A monopoly with the long-run average cost function LRAC and associated
marginal cost function LRMC:
LRAC=6-0.5Q, LRMC=6-0Q,
where Q is the output.For the monopoly’s output the demand function is:
Q=4.5-0.5P. Then,
(A) If it’s in a fully contestable market, the monopoly rent is $1.3,
(B) The full-cost pricing is P= $5, and the profit is $1.5,
(C) If it’s in a fully contestable market, the monopoly rent is 0,
(D) The marginal cost pricing is P= $3, and the profit is 0,
(E) The marginal cost pricing is P= $3, and the profit is -$3.5.
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